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‘A 2 kg mass tied to the end of a Im string swings as a pendulum in a vertical plane.
At the lowest point in its swing, the speed of the mass is 5 m/s. What is the kinetic

energy of the mass (in Joules) at the instant that the string makes an angle of 60° with
the vertical? Take g—IO m/s’, (Cos 60" Sin 30°=0.50 , Cos 30°=Sin 60" 0. 87)
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A block of mass m stides down (start.ing from rest) a frictionless plane 0.9 m long and
compresses a spring of spring constant 10 N/m by 10 cm. What is the weight of the
‘block (in N)7 (Cos 60°= Sin 30°=0.50, ‘Cos\mEO": Sin 60°=0.87) ‘ :
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A block of mass m at A at rest, slides down on an inclined plane and compresses the
spring by 10 cm. It then moves up the plane and is found to stop at point B, 40 cm
‘below its initial position. What is the coefficient of friction between plane and block?

(Cos 45°= Sin 45°=0.7)
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A 2 kg object is placed on a vertical spring of negligible mass and force constant

k=1000 N/m that is compressed 10 cm. When the spring is released, how high the
~object rise from thls initial position? (The object and the: spring are not attached)

Take g=10m/s’.
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Mass m, is attached to a light string over a pulley and attached to another massm,
. (Emy/ 2) When the mass m, has fallen (starting from rest) a distance h, what is its

speed? (Use energy conservation principle and-ignore the friction and the mass of the
pulley.)
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